0l.

02.

03.

04.

05.

06.

07.

fx) = 2x° + 3 €2 x) = Pqﬁ crite ¢4, (fog) () = (20H()

SHE: L.H. S = (fog)(x) = f(g(x)) = f(iﬁ—g) = 2:-:?+ 3=x

RH.S = (o () = g(f(x)) = (2 +3) = {2222 = x . L.H.S.= R H.S. (Proved)
z:rxf+5x—(p+2)=naaﬂ¢ﬁqﬁﬁﬂaﬁamﬁawwpﬂammw|
WWE\EE:@' u:—%iﬂﬁ', D‘.=_—zw
S, o+ ot = ——‘G Q. o —(2;—2} (:-_1 3 _ ~(P+2) ( —(P+2)

2 -(P+2) 3 a3
=9%*+9%a+2=0=>0a’= pye —=P+2=1..P=-1 =:~P+2—B.‘.P=ﬁ
= Ba+1)Ba+2)=0 ;. P=6,—-1 (Ans.)
L= —IEL = T

W Va+ib=x+iymmOR @8 @, Ya—ib =x—iy

STIYE: (ST WTE, Va+1ib = x + iy =>a+ib = x* — 3xy? +i(3x’y — y°)

~a=x°-3xy% b=3x%y—y? .. a—ib =x® — 3xy? + 3ix’y + iy’

= a — ib = x3 — 3x%iy + 3x(iy)? — (iy)?) =>a—ib = (x — iy)? .. {/(a — ib) = x — iy (Showed)
Ix] {i T (1 — 5x + 6x%)~! @7 [Pfore x" a7 32 AT =01

1 3 2

Y (a — 5x + 6x2)~1 = = — =3(1-3x)"1-2(1 -2x)1

(1-2x)(1-3x) 1-3x 1-2x

C=3{14+3x+ BX)Z+ o+ BN} — 2{1 + 2% + (2X)2 4 v + (20" + v e }

-, frefa x® qg szt = 3.37 — 2.2° = 30+1 _ 0+l
P @ Q 373 71% T (1,1,1) 9z (3, 2, —1) T PQ (SHET TNBAIT 9T (037 391
T OP =i+j+k; 0Q=31+2j—k .. PQ=0Q-0P=(3i+2j—k)—((+j+k)=21+2]-k
~. fAefr v o8 = +I§Ei + Jz_:j:g;i)f i%(zh zj'—f:) (Ans.)
X—y+2 =07 I @ RIgras MRS O wews Tog 77 93 Toitaw (1, —1) [Tre s[fys | “[igred
iR Ay )
st «fF, e sileat, x—y+ k=0
T (1, —1) T© MICHFA ARG = 2 x FREILS X — y + 2 = 0 (A @G |

— = o T2 k=6 . TR STReR, x —y + 6 = 0

c. foedw ormrgres e (- D? + o + 12 = -

= 2x° + 2y  —4x+4y+4=x*+y? + 36 — 2xy+12x—12y
= x% +y%+ 2xy — 16x + 16y — 32 = 0 (Ans.)
(1,1) R o SfSsrsaiat 93 Soigras w8t Ry =9 3w a3 Soarew (1, —1) 932 Sme fatees sfiead
X=y—4=10

. EEY — aANZ X=y—4\"
;& — D2+ (v — D2 = e (L)
= 2(x* +y% — 2x + 2y + 2) = e?(x? + y? + 16 — 2xy + 8y — Bx)
= 2 - = g2 - - 2 =2 —

(12+1 2+2+2)=€*(1+1+6-2+8—8)=> e’ =, [FRT«fb (1,—1) I

= 4(x* +y? - 2x+ 2y + 2) = x% + y% + 16 — 2xy + 8y — 8x = 3x2 + 2xy + 3y — 8 = 0 (Ans.)

A4S G0 A% *5el, ..



08.

09.

10,

11.

12,

13.

14.

*15.

(418 ¥, tan 70° = tan20° + 2tan50°
o_ — tan70°-tanz0® _ .
A tan(70° — 20°) = = T 11

1+tan70° tan20® 1+tab70°cot70®

“» 2tan50° = tan70° — tan20° .. tan70° = tan20° + 2tan50° (Showed)
W a = 2b G A = 3B T, O faprsm @It Fdg 79

2b b

TAYE: WA I, AABC-q 2 =2 2 -

tan70°—tanz0® tan70°~tan20°®

sinA  sinB sin3B _ sinB
= 2ZsinB = sin3B = 2sinB = 3sinB — 4sin* B= 4sin*B=1=sinB = -:— -, B=30° (Ans.)

~A=3B=90°; C=180°— (A+ B) = 60° (Ans.)
ﬂﬁ‘fﬁﬁ: (cosx)¥ = (siny)*

FAHE: (cosx)” = (siny)*

x cosy dy
siny dx

= Insiny +

sy dy dy )
= y(— - = =
y(—tanx) + ln(cnsx) = Insiny + x- siny &x " ax (lncnsx X~ ny y tanx + In siny.
dy (Sin y In cos x—x cos r) : dy _ siny{ytanx+In(sin y)}
= - L dy _
dx siny ytanx + Insiny. .. ax — slnyln(com)—x cosy (Ans.)

y = X+ 1)(x— 1)(x — 3) 3F GRIF @ 7R e x-S (0 73, @ qefrs sEe —=pfemr e A fw e
W:WWK*W MW| W}' ={ .. W(_ln D)r (11 D)r (3!0)
&g STF 7L, Iny = In(x + D+In(x=1)+In(x—3)

. §g=x11+;1+:3 > = (x—DE-3)+ &+ 1DE—3) + (x+ 1) (x—1)

Wﬁwqﬁmmmﬂmaﬁmﬁ. 9 519 = 8, —4,8 (Ans.)
Another Process: (Rnf99 (—1,0)(1,0)(3,0)
y=x+DE-1DE-3)=G-Dx—-3)=x>-3x2 —x+3 .. L=3x—6x—1

:i)x = TE (dx)x__l =8; (%)x=3 =8 (Ans.)

dx
qrre g e [——
TATYI: f 1+sm -= [ 11_;:;’{ x= t:i:: dx = [ sec? xdx — [ secx tanx dx = tanx — secx + c (Ans.)
CERNEREEEETF

fz (x-i]s}xz-zx
] f; {x-—iNﬂ-!x |

3 (x-1) 3 zdz 3 dz [1 1 ]3 » =] 5 3
= = |, ——=|-tan" " z| = |tan™" VX% -2 |
’r (x2- zx+1)«sz 2X fz (z24+1)Vz? ‘rz z2+1 1 2 [ & 2

Let,x? — 2x = z? . 2zdz = (2x — 2)dx .. zdz = (x — 1)dx

2
=tan~1y/3 —tan™10 = tan‘itang =§

f2 — 40D _ [secl(x—1)]2 =sec™?2 —sec 11 = E —-0==

ﬁ'ﬁ[u 3 dx —
° fz (x=1)v/x2-2x 2 (x-1)J/(x-1)2-1 3
3P «Je, 2P I+ Hfb 04 Ae R | &Y% FeAf07 W fwe Fate #fed e fRwdt 21 eeae werfs @ R o=

sty «fR, e 19 = o ; OIRE, R? = 9P? + 4P + 2.3P. 2P. cosa = P%(13 + 12cosd) ... ... (i)

wiald, 4R? = 36P2 + 4P?% + 2.6P. 2P. cosa = P2(40 + 24cosa) ... ... (ii)
40+24cosa

MEREN (if) & (i) @ SPIE MR, 4 = 13+12cosa
— cosa (48 — 24) = 40 — 52 = a = cos™* (—3) = 120° (Ans.)
4TSt Tofeer e ToT 6 (0T SRS e TSI T 5 1b SR 4F 7 85 oz @&t 517 FE I

SR 10 GG (I T CRLS TSI (7T T4
Y 4, @R G = £ (TEIA) . 9T ©F x Ga
= E xg="5x(f+g)[.. 160z = 11b]=>f=?llgg= 2fts™? [.g= 32 fts~?]

. fiudfar B, h = 2 ft? e =0 ; 3T, t = 10s] = > x2x102 = 100ft. (Ans.)

AFIETHA ST T 6=,




FAYI: ==t i, v2 = u? + 2fs

= 300% = 0% + 2f. 1 = f = 45000ms?2
WA, F = mf = 0.04x45000 = 1800N (Ans.)

17.

TTAA: P(C).P (%) = P(CNF)

=P @)

+ P (5)=2 (Ans.)

1

Q1 St u = 0 ms™
/g @%,u = 300ms™! , 90, s=1m

4, m = 40g = .04kg, 7, f =2 &FF 97, F =7
G T G I 80 T BT W 20 T FBIA @ 25 T D (AT G 10 T TS (AT | O
T RS GFEALE CIAOICE THAT5 a1l 21 | T RIS et (T OTd ©fF O3 (IR A F07

1

20
G, P(F) = o9 CLETR ABSl = — =7
P(C) = =5 e RISt = = =
P(F N C) = Touf5 (elia F@IRpol = =2 = =

P(Z) = RFTeb eTeT FHe1 et Iyt = 7

16

*18. 115.625 (& RSt et o7 q3e Rite A e SikE wiiee goh I (SINF et Tore! T61R T4

YIS
2|115
2571
28-1
14-0

2|70
2(3-1

211-1
0-1

2

2

S, T AR x2 ofef ST wifSE e
0.625 x 2 1 0.25
0.25 x 2 0 0.5
05 x2 1 0

=, (0.625),, = (0.101),

- (115)4, = (1110011), .. (115.625),, = (1110011.101), (Ans.)
U[E, (1110011.101),; = 1x2% 4 1x25 + 1x2% + 0x23 + 0x2% 4+ 1x2 + 1x2° 4+ 1x271 4 0x272% 4 1x273

= (115.625),, .. ©Gq ASJ |

19.

5.975x10%*kg, <fA<17 GFIE = 6.

2GMp
R‘I'l'.l

A ST S, Vi =

 ——
i——

2%6.673x10~11%0.11x5.975x1024
D.532x6.37x10°

20.
WG AlETPIe S L7

W:Wﬁﬁﬂ:h‘g

T aEE O RS89 SR 0.11 o 9R @7 [EE SR¢T TS 0.532 ot T ART TP QT 9T
TS PO TS (@01 TRUFI T XA T ST TYIRF4el J0T 130 53T (A0S #i1rd? [RA7 =7

371x105m, G = 6.673x10~1* Nm?/kg?]
G, M = 5.975x10%*kg
R = 6.3171x10%m, G = 6.973x10~**Nm?kg 2

5087.22ms 1 M, = 0.11Mkg, R,, = 0.532 Rm,V,, =?

a5 &9 ferecoa oy At B ST CRITCa CRIATTET T 1 T CRIeTaefB Bolta e g/4 gt ey Be9, oreeet

A3, g = FeRT St g =g+2=2¢
4f8, I FEA T = L
7S e, T =?




21.

22.

*23.

24,

&S BT 1800m c-'cm 240m ﬁ‘l‘cﬂ ﬂﬁiﬁﬁ Si[A ﬁw 2]1RS m.amaﬁﬂ BT 3600m (T3 AT TFY
TP Aol a3 eidie e s Bww | of @R e 39— e (e 93z @R Ree @rs o7 91wy (a?

AYE: Tq XS 199 ©2{1 3600 cosa + 1800 = 0

-—% =cos 120° . a=120°

Y I B, 3600 cos (o — 0) — 0 = 3600 cos30° =
312:??69 = U.ﬁ?fbgﬂh '

130cm A1 Q3R 1.1mm IR GFB 2ITST SIAE 830°C SN T8 FH O 13 28 45 & IH19 A

1 SCIFTT AT U T S RATCeT BivH] S AT | ST $1761 ZCH 20°C o CE SIoeeT i 5 =ifemit 51 vjfe

FA? [0S 21 9T, Y = 200x10°N/m?, &FRIEF, o = 11x1076/°C]

T SET w1, T = YAAta QTTA, At = (830 — 20)°C = 810°C

= 200x10%x7x(5.5%10~%)2x11 x 10~x8101693N (Ans.) |r= lzimm = 55x10"*m, A = nr?

AT FRpe Sraare =13 e a3t Rpfes J SoMITR SR Stemat 800°C | 1 fwye 79=arg 20% i
T IR CAMICT S5 STl (I9 39| TAMCE T 9 BT 49 932 0 = 5.72x10™8Wm 2K~

Y St s Bt = T gy MR 1 13 _ (1o73)*
- E ’ EE - Tg qu lzR ‘aT (_6_11)2 — Tg
3

. COSOL =

=1
=

1800 mh ™’

3117.69mh™!
-. t -

T =7

36
= T} =2x (1073)

~.T, = 1175.4K = 902.4°C
QT ST AHER ©iot T 8 O AR Sivial UG 500K @ 375K | I 2fEmT afS suF 252x104) St
CITEe T O, (i) 2T wrel, (ii) 2fSoter Fitea AT @ (i) 2fS vter IfREe Sism sifFmr [ 9

375

AYI: (i)n—1——.—1-—_025—25%mns)

500
375

T, = 500K, T, = 375K
= 252x10%], Q, =?

GTTA, (11)

25.

*26.

= Q, = - x 252x10* = 1.89x10°] (Ans.)

T1 n=7 W=?

(iii)) W = Ql — Q, = (252 — 189)x10* = 6.3x10°] (Ans.)
OT0 ST ~ita 20°C TR WY Y SR 9N AARFE Sidet 30% )1 I Twet 10°C @ T wF =W ©r@
SteFE Wne! IS I? \H W, 20°C 92 10°C -9 F=& i-5i°f AT 17.5mm oW IS4 519 G3R

9.2mm ?{[d9-BL39 bl |
SN S5 Sif°, m <« P=> m = KP
20°C-4q 7794 m = KPR,

10°C-¢@ fR%I9H m = KPR,

-, m 9oy, .. KPR, = KPR,

PiRy _ 17.5%30 _ s neos (Ans.)
Fz 9.2x10

FreifEF 519 @ SN AT *ItHd @i 330m/s R0 QYRGS Wd @ F67 (9T 5 QBGEa ©F =

G, 20°C -9

R, =30%, P, = 17.5mm
Ry =?

4fq, PR ST = m

K = a6 FAaifes s3a

= R, =

0.896x103kg)
SR SR @i, Vo = Jﬁz

-3
_ Yp . VH, — 1.293x10
Vi, = Pi,  Va 0.896x1073

3
L =396.42ms™?
0.896x1073

a9, V, = 330ms™?
Vi, =7 ; Pa=1.293x1073KgL™?

Py, = 0.896x103kgL™!
P = JeiiF oI

VHE - 33[}:’:




BUET Sganes
27. A€ B (T 998 A I AfS

LY
. ¥ = S B
1 ';_ :.! 4 |
g . J..:I '.
1 = ?\'..
SSNSL

sﬁwmqfﬁmmﬁamﬁﬂa%ﬁﬁﬁmﬁmm,mw

o1y 3 ANIHIA

:I. ,,.:_ r._ " = ’
B Wt e

_J ! ‘_'__:.:‘f..';. AT 1s

o TR

et ITY 1 T B 97 F1% &ifS GTITS 256 TN, OW A @7 F=i1% 3w o9
S (ST SITE, B-T™IE, N = 2565~ FaIC=7 AL, N = 5577

4fd, A-aIINE =N, . Np— N, = NTql, 256 — Ny =5

v A- (S ST AT TR0 SN I YW FER, Ny > Np - Ny —256 =5

A, Ny = 261s™1 = 261 Hz (Ans.)

28.  2.0cm BST €2 1,0mm *F G SN ST > FFF CFCA A ZAN | RFF CFLAA AF# B = 1.5 webers/m* |
sirefba fSon fATw 200 ampere e 2RIE® T2 Areire F© Hall {3, Vy #iheHl II? RFF (R e i
e ST ™ 90° 1 IR [2fS 9T SHSTa S A1) LARGR 7, n = 8.4x10%%electrons/cm?]

Bl [.. :

Laxod — 2.23x10~11Vy

f -_— — S— [ —_—— —_
AR Vy = v.B.d = Vy \ nAgql ~ B.4x1029x106x1x10~3x1,6x10~19

ntq

*29.

T BT SIETSIIRBIER W4 T 5 amp fRpe 221%® e @ It 30° @it ReFRre 271 shersiEee

e o Wi g a-ifRe T8 o1 450 @t [Rus e z3?

S 419, DRSS SESIAINoIE f9edd = k

=~ I = ktan@, @33 1, = ktan0,

— . Iz _ tanb;
JF CFE, 0, = 45° -~ . = tand,

IR, S &, I, = 5amp 8, = 30°

I, =? =1, = ::;i x 5 = 5v/3amp (Ans.)

30. 200g SEE GIH 4P SMSMT AT SEEA 5% Gl Gl IENFIAT TA0o I 1 2A R 2[R A $9 F0H
IEFEAT 9 M@ ©F @F 991 [T ECE = 0.1044x10~%g/C, GTiHE ARMNRE 9 = 197.1 aR

FREEAT “EAEF S 1.008]
r — i —_ Zau —_
TAI: @R, W = 200x - = 10gm 2

Mmay
my

. _ Mau _ 1971 —4gr—1 — -4 pn—1
- g = AU Zy = o x0.1044x104gc ™" = 6.8x10~4ge
w 10

31. @6 2EEF 107ms ™! SR o veieR1 W3 sifSHfE 2EgR-cetet [de 391 [REEEE ©F, m = 9.1x1073 kg,

ZLARLE B1%, C = 1.6x10~*coul]

W?:Wﬁrﬁ, Ex = (m— I‘l‘l,...i.)r.‘:2 = (

9,1x10~31

\J 1‘(‘3712:—:&)2

—9.1x10731 | x(3x108)2

= 4.554x10"17] = 284.6eV [+ 1leV = 1.6x10717]
32, 20 A% @R T FAEEE SHRE Bd G @757 IS 2m IR T I e | @2 frhe 4% 0.2mm =0e (R T

@ @41 Tege {4773 Ty 2Aef S5mm UG 5@ 7 Afee ) weifes wiceta ondy A ==

AN ST Eif, asing = n
. . -1 1 _
= 2x10~*mxsin (tan m) = 1x\

= A = 4.99998x10""m (Ans.) 0

G, a = 0.2mm = 2x10™*m

*33. «3fb GRITH R e @ Sewa «F GIFT A 0.50m 8 0.05m | ™8 W¥taa Tex =g 0.25m | =8 w4t
T SIS @7 2.0m IF G0 (AT ©OR GRTHATS (I F Q| (a) SSeH] @ Wit 97 T4i8! 7ag W3R

(b) 4w A ==
, — . __ UpX fo __ 2%x5 . _ vaxfa _ -.25x(.05) _
A (a) up = 2.0 ; vo = e m o 0.667m; u, = e S 0.0417m
_— Vo vel _ 0,667 0.25 _
i £ = Vo + U = 0.7087m. (b) R4, m = 22| x [-2| = (T) X (umm) =2




34.

35.

36.

37.

38.

39.

9F ST @ saataa u-wﬁﬁmwz 1mg T T | mf%frmawérqmamu

STRIHI: ST S, N = Nje M G, N, =anaf‘mnmm=:[wrﬂ
In—- _ 1-0.0021
— A = __tﬂn - _ lnﬂ.:':‘t?g = (4.2x10~%y™1) N = §CE 2SI FALA N — = 0.9979
0.693 = —
sT== e ED:;E_* = 1648.27 years. (Ans.) t=Syn A

Wﬁwﬂﬂrﬁwﬂﬁnwﬁ%@mﬂmﬁmwﬂﬂﬁmﬁw 3V RS feq 7 earem =1 8% «ied
ST OSR f&F g 6x1014Hz F=iIEa ST 3 =1 e | oo STaiiE T=I% @ 4Iga IE STores
w1 [h = 6.63x10734Js, e = 10-19C, 1eV = 1.6]]

STAH: Wy = hv, = 6.63x1073%x6x10%* = 3.978x1072°(Ans.) G, V, = 6x10'*Hz
eVs = E = hv — W, = 1.6x10"17x3 = 6.63x10~3*xv — 3.978x10"? W, =7
= v = 1.324x10'5Hz (Ans.)

1.67x107*"kg f¥footag 93l a5 ¥v =7 fudt 208 2 70 Fion Ariem I? @AbA0T 0F who Sm Fao (@
e A TI ot @A TR [c = 3}:105111/5]

T SR SN, m = e s B =L =1 Y =075
ve ve v2 ce
J = )
Sov=2.598x10°ms™! | m, = 1.67x10%’kg; m = AfSAET SRGT SF; v =2, E =?

AT *if&F = offeifes = (m — m,)c? = (2m, — my)c? = m,c?
= 1.67x107%7x(3x10%)? = 1.503x1019] (Ans.)

(a) fRtoa Glietefem 2raga e fore

(i) efeffrg alia ns'~2 @ nsnp'
(i) ST Giter (n—1)d'"ns'~
(iii) TR A7 He U ns?

(b) fAeex Sefts Sitwa e F3fE SETw Arane | H,TeO,, H,S0,, H,Se0,
AAYA: H,T04 < H,5.04 < H,S0,
f&m SromTa < a 51 100Pa. 18.0g “1HTS 0.1mole B geiFs Ttz Ir=ste Refn =11

STYT: ASTEBA T T, ST, To4 GIIET 31230, n = 0.1 molle

Pa=P _ N3 100—-P _ 0.1 _ E .

e D> == AT TS =, ny = — = 1mole

— P = 90.91 Pa (Ans.) “Atfwe IIIB11, P, = 100 Pa; HITIF {519, P =?

FTed 36 1.0g THACE H,S0, @il Balpe T 100mL ST B3 Cofd o4l T | 9% WI0e 25.0 mL & SIS
A0S 24.0mL 0.022 molL™! KMnO, W% SIS 21 2I1Te 17T *roadl ©9 fidfy 3|

A X AT x ST = 2 CIEAeT x Qe
i 25 — 24 —
43, Fe 7 (NI0 ©F X oo X=X 1 =5x——x.022 = x = .5898g

| | _ 5B898x100 — 58.98%

1

AfAqe =T SO T *Mdoe..




4]1.

42.

43,

45.

46.

, X
NO3 (FIZWHE WA NH7 (SHeiaT simw) S0Z~ (STITTTG SIT)

a3 AfEFge Siv-armame wfiwad gets 2N, () + 0,(g) = 2N,0(g), AH = 163.2 k] mol™

(i) RiEFaid & o= =t Soiesm?

sy RiEETl stomh g AH > 0

(i) T sivet RfEFary 4.4g N, 0 Toom e, gl AffRéT vo 2a?

FATY: 4.4g N, 0 Teoig T, quafo= 2fffads = 163.2k] My, = 44

. 4.4g N, 0 =i Z0eT, G e = =2k = 16.32 k] (Ans.)

=19 NaCl Taeets ofes et fF «ifami e 2i<ited T 1 9951 590 Pr-Sieaite &5 519 @ S =@y 0.112 L Hy
TRAN T |
FNYH: STP (T 0.112 L H, 474 =

112x2.016
22.4

= ,01008g

W = ZIt=> === x Ix3600 = .01008g = | = .268A

ST w98y W RfEFuE 7@ 2.2x105mol dm~3s~!) RfFnta 29 &39 1.1x107%s7! AET SIgA
Rfsraiftre Rk Tt 397

AAHH: We kncw,% = KC [Here,d—x- = 2.2x10"°mol dm™s™! and K = 1.1x107*s™"]

dt

__22x107°% -3
= o= — 0-2moldm™ (Ans.)

Tefire Baa wha:

(i) 4hga erfRee He-97 ToifFrere o < &7

s Ry srRrew 42 e

(if) TS FT3[TT T HIH-eMITa T AT #AfHITS He @ 0, fee <29 96d 347

Ttyte; fow SREem a3t (olie ofFar Tore Fodifers m 1 ©ik Ot Reifen TR T «=ret Iy aar Y-
2T AT R Swoiee ¥ N, TF Baee T A g Torg Tom o[ Biot Iy Ineqy Fae orm 1o Qe
G AT IR A (@9 LS AT | TS TIRWA Bending M1 OS5+ He 8 0, R 539 ot

(a) SnCl, @ SnCl, 4T TT4T (DT STICAGT ea*25 @fF? atae core w9g) 1§72

SNY: SnCl, G TTAET 1 SnCl, FMA, SnCl, YHTA ST

(b) [Co (NH5)¢]Cl; @ifore & gt QR fEoRrer i <a?

AAYH: d2sp® Y fTeIRE |

(a) feoa IS Fe W32 Ni @F W19 51371 F©7? Fe (CO)s and Ni (CO),

FIYA: Fe-a9 &9 AT = 0 ; Ni- A TS R =0

(b) 25°C SINIAR HCl &F S B3T3 pH 2.6990 T #34fod Tt (ialisiore GEREEE]
sitie: pH = — log[H*] = 2.699 = —log[H*] = [H*] = 1.99986x103mol/L
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Read the passage and answer the following questions.
In Bangladesh, boats are one of the most popular modes of transport. Through centuries, people of Bangladesh have

developed a boat technology based on wood and bamboo as the main construction materials, and on wind, current,
tidal flow and manpower as the motive powers found in nature. Still today there exist, may be, as many as half a
million country boats which are commercially operating, carrying passengers and cargo. This convoy fleet comprises
a wide range of boats of different kinds both with respect to carrying capacity, speed, constructional design and route
pattern and freight specialization. It is estimated that the country boat fleet carries three-fourths of all cargo moved on

the inland and coastal waterways, and that it represents about 40% of all transport modes in the country, road and

railway included.
In the light of the above passage, fill in the blanks with appropriate word/words.

Boat is one of the most important modes of transport in our country. The construction technology of boat 1s age old
and the wind/motive power is available in the nature. In the enormous fleet, there exist various kinds of boats.
Seventy five percent of the cargo moved through the inland and coastal water ways is carried by century boat fleet
which constitutes about 40% of the total cargo transport by all the transport modes in the country.
Translate the following into English:
(a) oS SRRIGTF T4y FoIA 0T Tl ©F T |
The football team started their journey in the inclement weather.
(b) &=t =1t ~irew graf B Frvred Kot @s =i=ee =
Being unable to get visa, the student could not go abroad for higher education.
(c) T ey I @t SISt FHemadr grom = TR
Industrial towns have been set up at several places of Bangladesh.
(d) DI TG T94 T TeHIT A I3 WA TR
The Chittagong seaport has become busier than ever before.
(e) TIETATH STH CEITIT FII AT v &7 |
The number of blind people in Bangladesh is about ten lakhs.
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Write a Paragraph on “Poverty Alleviation" in 10 sentences with reference to the following points.
(2) What are the factors of poverty?
(b) How does it affect people?
(c) What is its impact in rural areas?
(d) Measures to alleviate poverty.
[Sample paragraph)]
Poverty alleviation, in the present world, is a hard nut to crack. Now-a-days poverty has adopted diversity and is
pervading in every sphere of our life. The factors of poverty are unemployment problem, illiteracy, lack of
diversification in production, corruption and our carelessness to the poor. Population explosion is the root cause of all
these factors aggravating poverty. Moreover, globalization in the disguise of open market economy has spread its
thirsty tongue to make the condition more miserable. One third people of the world are living without proper food,
health services, without home and education. Rural people are completely devoid of any kind of human needs. As
they are without the touch of the civilized urban world. UN, TJNICEF, WHO, WTO and many other socio-economic
organizations are trying to alleviate poverty, but without a great result. To alleviate poverty we have to bring
diversification in production, set up new industries and provide the poor with works.
Choose the word that best fits in with the meaning of the sentence as a whole.
a) The sailors were ..........thirsty to speak.

1) very 11) much iii) too 1v) enough
b) Because the enemy had a reputation for engaging in sneak attacks, we were .......on the altar.

1) Inevitably 11) Frequently Viii) Constantly iv) Occasionally
¢) The......of his first complaint led him to contemplate pursuing stronger methods to obtain satisfaction.
i) success ii) efficiency iii) earliness Viv) inefficiency
d) We regarded him as....to our cause because he accepted all our suggestions without hesitation.
i) amiable ii) antagonistic Viii) amenable iv) intractable
e) It has,been said that printing does as much harm as good, since it gives us bad books as well as good  ones
and ........ falsehood and error on less than knowledge and truth,
1) display 11) betrays Viii) propagates iv) demonstrates

Change the following sentences as directed

a) Village women who are sitting on the walkways may enjoy gossiping. (Make it simple)
Village woman, sitting on the walkways, may enjoy gossiping.

b) Every man is liable to error, (Make it negative)
No man is free from error.

c) "A sail, asail", they cried. (Make it assertive)
They cried in joy seeing a sail.

d) English is spoken all over the world. (Change into active voice)
People speak in English all over the world.

e) Maradona is the best footballer we have ever seen (Change into comparative degree)
Maradona is better than any other footballer we have ever seen.

Make sentences with the following

a) Scape goat: She felt she had becn made a scape goat for her boss's incompetence.

b) Tooth and nail: Begum Rokeya fought tooth and nail for the rights of women.

¢) Pros and cons: You should consider the pros and cons of the system.

d) Take for granted: The headmaster took for granted that Rashid had broken the chair.

e) See the light: A good teacher can see the light in his students.
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